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O EI0et S4Al2
16,500 35 A~ x12& 6,930
202 04| 7,700 6,260 1,440
01 2L I 7,700 6,260 1,440
QOusg=4a 20,000 x6H 12 & 5L 7,200
OSEAHBEDE 42 2 DAEE
50,000& *53| 2H 500
401 AlEHIZL 2 0HY| 837,000 897,000 A 60,000
& 35,000
= 802,000
01 Al& H| 835,000 895,000 A 60,000
OREXNSZI XS (SHIHAH)
45,000,000 =14l 45,000
OUNEUMALE X &L SLE(SHIHAH)
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== 35,000
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= 87,100
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s 8,364
HASZE B2 ZHAL 13,350 12,015 1,335
< 4,005
i 9,345
401 Al HIZ 2 048I 13,350 12,015 1,335
< 4,005
e 9,345




AL S
wnsdd N
WSeHH AESS fEH)
SN SAGEA) - MRALY - BES 0l &t o = Hl D&
01 A& HI 13,350 12,015 1,335
OHASAE HABEHAL
1,335,000 1090 & 13,350
=) 4,005
s 9,345
FAUHSEHE XS ALY 1,402,000 500,000 902,000
= 1,400,000
= 2,000
401 A& HI R 201 I 1,402,000 500,000 902,000
= 1,400,000
[a 2,000
01 A& HI 1,402,000 500,000 902,000
OZ=+=38X FXEH =4 1,400,000
= 1,400,000
OFXEHR ZHAY AIZ R0 2,000
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301 LEAZ 1,095,000 850,000 245,000
s 100,000
s 995,000
12 JIEtE 4 1,095,000 850,000 245,000
O#== 1,095,000
s 100,000
s 995,000
307 21201 A 954,000 880,000 74,000
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< 22,400
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< 9,800
301 LA F 9,800 0 9,800
< 9,800
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wEEMEE 18,860 18,860 0
< 1,800
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e 10,200
301 LEHZ 12,000 12,000 0
< 1,800
s 10,200

_25_




AN A4S0
M DEMF A
Sl DSEMEY CERED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
12JEEd= 12,000 12,000 0
OAUHEIBXR(ZFINFE 6,000 &)
200,000& 60 12,000
< 1,800
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ANS BHOAXE 123,300 110,400 12,900
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= 81,100
SSEAl X3 A 123,300 110,400 12,900
= 42,200
[a 81,100
301 Let2H = 123,300 110,400 12,900
< 42,200
a 81,100
12JEEd = 123,300 110,400 12,900
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201 L2l 2,450 0 2,450
01 AFR 22l 2,450 0 2,450
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—ot&D I8 ¢ 150,000 =7 & 1,050
—s&J s 7Y 200,000% »7H 1,400
202 (44l 2,000 0 2,000
01 SLHOIYI 2,000 0 2,000
O&E=2 KRA2cl ol 2,000
Jl=&dl 31,808 31,612 196
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201 Let24dH] 22,112 20,452 1,660
01 At 22l bl 21,394 19,792 1,602
odzz=g 705,000& 4= | 2,820
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